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NB|FEFEAS [EE 10 100 0 100 10 0 0 0 1404 0 1188
RiF 60 600 0 600 10 0 0 0 0 1080 0
GhH 70 700 0 700
1141|5848 me 6 30 0 30 5 0 0 0 2592 0 972
GhH 6 30 0 30
1201|833 E% 50 750 0 750 15 0 0 0 0 756 0
(&) 50 750 0 750
1203[F ¥Ry [EH 30 300 0 300 10 0 0 0 0 972 0
50 70 1050 0 1050 15 0 0 0 0 810 0
EE 80 800 0 800 10 0 0 0 0 756 0
GhH 180 2150 0 2150
1205|[F5AE [EE 275 110 110 0 0.4 216 0 130 0 0 0
126 150 30 0 30 0.2 0 0 0 92 0 81
) 446 224 110 114
1207[ & G 1059 193 173 20
1209| B & B 2 6 0 6 3 0 0 0 0 1890 0
(&) 2 6 0 6
1301[#aF S 23 46 0 46 2 0 0 0 864 0 702
= E 400 120 0 120 0.3 0 0 0 97 0 86
=5 7 35 0 35 5 0 0 0 1296 0 1080
126 225 90 0 90 0.4 0 0 0 0 135 0
(&) 655 291 0 291
1311[F<k EES 72 288 0 288 4 0 0 0 0 1080 0
Eh 72 288 0 288
1321 |81 mE 46 230 0 230 5 0 0 0 1944 0 1674
ZiE 35 175 0 175 5 0 0 0 1998 0 1782
(&) 111 555 0 555
1331 [MFEBY  [Za—T—FU| 15 150 0 150 10 0 0 0 0 1944 0
(&) 15 150 0 150
1351[E—<> |55 1140 171 0 171 0.15 0 0 0 49 0 46
(&) 2040 306 0 306
1353[ Tk =0 90 9 0 9 0.1 0 0 0 173 0 97
(&) 90 9 0 9
1403 | FEBF S 20 20 0 20 1 0 0 0 0 1188 0
(&) 20 20 0 20
1407 | 2B g FEA 1 1 0 1 1.2 0 0 0 0 518 0
L 1 2 0 2 1.7 0 0 0 0 216 0
Nl 102 204 0 204 2 0 0 0 810 0 216
(&) 104 207 0 207
1511 | E#%E [&0) 4 40 0 40
1541 [ E& EE 200 2000 0 2000 10 0 0 0 1620 0 1404
Eh 200 2000 0 2000
1603|tz)L)— [E%H 5 50 0 50 10 0 0 0 0 2808 0
Eh 5 50 0 50
1609[7Oval)  [FJI 40 240 0 240 6 0 0 0 2376 0 1080
(D) 40 240 0 240
1611[LBR E% 3 30 0 30 10 0 0 0 0 756 0
Gh 3 30 0 30
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1627[2=F=F  [&EJI 300 60 0 60 0.2 0 0 103 0
S 75 225 0 225 3 0 1296 0 1080
(&) 375 285 0 285
1705| L= fa] 450 36 0 36 0.08 0 0 108 0
[&D) 600 48 0 48
1803 | E mE 350 35 0 35 0.1 0 131 0 125
GhH 800 80 0 80
1807|#8E E& 150 15 0 15 0.1 0 0 49 0
f=554 300 60 0 60 0.2 0 0 62 0
& 450 75 0 75
1809[L&L EH 350 35 0 35 0.1 0 0 49 0
=% 1350 270 0 270 0.2 0 84 0 78
GhH 1700 305 0 305
* S EEET * 15580 17405 393 17012
2701[7—J)LR & [ 1 9 0 9 9 0 0 8640 0
Eh 1 9 0 9
* EEET * 2 18 0 18




